r

WASBYE

Parts Catalog - Option Detail

nine

Option

Group

Graphic

Film Card

Date

FP6828

05.01.7

fp400gg

K38

30-MAY-89

| Engines ||GTA38, K38, KTA38GC CM558, QSK38 CM2150 K106, QSK38 CM2150 MCRS, QSK38 CM850 MCRS

fp400gg

SMALL | MEDIUM | LARGE

View My Cart

FP6828



https://qsservices.cummins.com/qshd/feedback.php?productid=1
javascript:swap_img('fp400gg','/rtgraphics/english/parts/fp/4/fp400gg_sm.png');
javascript:swap_img('fp400gg','/rtgraphics/english/parts/fp/4/fp400gg_md.png');
javascript:swap_img('fp400gg','/rtgraphics/english/parts/fp/4/fp400gg_lg.png');

3020524 Cover And Bushing Assembly Variable Speed Governor 1
3016021 Governor Housing 1
1 3015253 || Governor Housing
2 3010941 | Bushing 2
3 3010943 Throttle Shaft 1
4 70834 Throttle Shaft Stop 1
5 70415 O-Ring Seal 2
6 70813 Socket Set Screw
7 110058 Fuel Pump Adjusting Nut 2 1/4 - 28 UNF.
8 109917 Socket Set Screw 2
9 S 251 Regular Hexagon Jam Nut 1/4 - 28 UNF
10 112408 Plain Washer 4 1/4 in.
BM30245 Idling Spring Pack
11 70798 Spring Guide 1
12 70820 Governor Spring Plunger
13 153240 Compression Spring
14 70823 Retaining Ring 1
15 109687 Compression Spring
16 70836 Throttle Lever Plunger 1
17 70811 Shim AR
17 70811 A Shim AR
17 70811 B Shim AR
18 3017051 Captive Washer Cap Screw 11 1/4-20 X 1 1/8 in.
19 70704 Plain Washer 11 1/4 in.
20 70705 Flange Gasket 2
21 3065376 Spring Pack Cover 1
3038216 Idle Pack
22 3036474 Idle Spring Plunger Guide
23 3032014 Compression Spring 1
24 70715 Plain Washer 1 1/8 inch




25 3018767 Compression Spring

26 70716 Knurled Screw

27 141630 Idle Spring Plunger

28 203346 Mounting Spacer

29 143253 Compression Spring

33 70717 Fuel Pump Governor Shim

33 70717 A Fuel Pump Governor Shim

33 70717 B Fuel Pump Governor Shim

33 189800 Fuel Pump Governor Shim

34 S 16240 Retaining Ring

35 3065383 Threaded Plug 3/8 - 24 UNF
36 3017052 Captive Washer Cap Screw 1/4-20x11/8in.
37 S 607 Lock Washer #10

38 3010945 Dust Seal

39 3003156 Wire Seal



https://quickserve.cummins.com/qs3/qsol/terms.html
https://quickserve.cummins.com/qs3/qsol/system_requirements.html

